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= 249,064
Xl 20,800
Al 91,071
- 539,775
AEEH =4 278,149 1,514,136 A 1,235,987
= 161,064
Al 37,671
- 79,414
N3 243X 278,149 1,514,136 A 1,235,987
= 161,064
Al 37,671
- 79,414
HehAlEe =4 4,200 4,200 0
201 2et2d]| 3,000 3,000 0
01 At 2teltl 3,000 3,000 0
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203 YR =] 1,200 1,200 0
03 A MFAH S =AY 1,200 1,200 0
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Al 20,250
T 12,150
401 Al HIZ 2018 81,000 1,404,000 A 1,323,000
= 48,600
Al 20,250
T 12,150
01 A& HI 81,000 1,404,000 A 1,323,000
O HEAIZE AlE SSHALS 81,000,000 81,000
= 48,600
Al 20,250
- 12,150
sotetd X 23,383 21,438 1,945
101 @124l 9,983 9,238 745
04 JIZHHZ2Z 2RSS E =+ 9,983 9,238 745
O ENEANRE 65,6743 x4H »382 9,983
201 L4l 13,400 12,200 1,200
01 At 2t 2l 13,400 12,200 1,200
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OlHX 2o 2 2tel 4,800 4,800 0
201 LB-2E| 4,800 4,800 0
01 At 2t 2l 4,800 4,800 0
O X2 s22 1,000& *2,0000H 2,000
O =sMd4Z2H BE22 3,500& »8000H 2,800
FHAHS X=X 116,143 0 116,143
=2 81,300
Al 17,421
- 17,422
401 Al Bl 28I 116,143 0 116,143
2 81,300
Al 17,421
- 17,422
01 A& HI 116,143 0 116,143
O M3 =XA4A LEDRN AL 116,143,000& 116,143
= 81,300
Al 17,421
- 17,422
BIFC HE<SIA #+5 4,400 4,450 A 50
201 L2l 3,000 3,000 0
01 At 22l 3,000 3,000 0
O BIFC & F& = 3,000,000& 3,000
203 Y2 =ZH| 1,400 1,450 A50
03 Al Z=A Y 2= 1,400 1,450 A50
O E7=38&A M2 AMRHO5 E45t
1,400,000 1,400
KEIE JtAAE WA 38,955 48,972 ~10,017
= 31,164
- 7,791
403 MtXISHE X201 & 38,955 48,972 A 10,017
= 31,164
T 7,791
02 SO 2SOH SR 2 X HE At H 38,955 48,972 A 10,017
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38,955,000& 38,955
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203 YR =&t 1,000 1,000 0
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Al 12,800
T 78,600
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- 2l 150, 000& *2H 300
-S2 ME 100,000& 100
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SHE N2+ 900 900 0
206 = Hl 900 900 0
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S=SE 7,000 7,000 0
201 et 7,000 7,000 0
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Al 1,000
307 gl2tol & 21,200 0 21,200
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- 9,400
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Al 1,500
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O 2 29 1,000,000& 1,000
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206 28 17,000 20,000 A3,000
= 12,000
Al 5,000
01 X2 Hl 17,000 20,000 A 3,000
O =6 E =M 17,000,000& 17,000
= 12,000
Al 5,000
HgEsTe mel(he) 102,000 434,700 £332,700
= 71,000
Al 31,000
401 Al Bl 2 0HHI 102,000 314,700 N 212,700
= 71,000
Al 31,000
01 Al& H| 102,000 314,700 N212,700
O QLEZ F0IHO AlA 12,000,000& 12,000
= 8,400
Al 3,600
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401 Al HI K 201 I 250,000 0 250,000
01 A& Bl 250,000 0 250,000
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101 @144 dl 43,401 42,317 1,084
04 JIZtHZ2XREES 43,401 42,317 1,084
O gXelB3EdH 2aEA 43,401
-2+ 65,6743 +300 «2H 39,405
- R AEER 3,996
Z0HASRES 39,405,000& *4.5% 1,774
=ALESE 39,405,000& *3.035% 1,196
EEE= 39,405,000& x1.5% 592
MTHEE= 39,405,000& *0.9% 355
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1,196,000& *6.55% 79
201 L4l 3,000 3,000 0
01 At 2t 2l 3,000 3,000 0
O gXel328dyH 2928 ¢
200,000& x53] 1,000
O Fel - RPAES M= 100& 2«5, 000 0K 1,000
O &2 M& 250,000 *43| 1,000
2rclEE 2435t 7,000 11,000 A 4,000
201 ¢er24] 6,000 10,000 A 4,000
03 A2 Z Hl 6,000 10,000 A4,000
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203 YR =& 1,000 1,000 0
03 A F=AH S =AY 1,000 1,000 0
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201 Let24E] 15,600 15,600 0
01 At 22l 14,400 14,400 0
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02 =24l 1,200 1,200 0
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